11 TheElectromagnetic Field

The photon has spin one and is represented by a 4-vector field A,. In terms of this field the
components of the electric and magnetic field are given by first constructing the antisymmetric
tensor

Fuw = 0uAV —0vA,

where the components of the electric and magnetic field E;j, Bj are
Foi=—Fio = Ei (i=1,---3)
and
€ijkFik = —Bi.
The Lagrangian density for this field is

1
LA = _ZFHVFMV

Note that there is no mass term since the photon is massless.
The Euler Lagrange equations of motion are

This reproduces two of Maxwell’s equations in free space (i.e. with no electric charge density or
current)

0.E =0

d
OxB = ©F
% at

The other Euler-Lagrange equation is
su\)pgavac - O,

where we have introduced the totally antisymmetric (Levi-Civita) tensor in 4-dimensions

gwps = 1 for {W,v,p,0} even permutation of {1,2,3,0}
= —1 for {y,v,p,0} even permutation of {0,1,2,3}
0 otherwise (11.1)

Take care that because of the form of the Minkowski metric

!/ / / /
gVPo = ghig"V gPP g% Ervp'a = —&wpo
This reproduces the other two Maxwell equations
U-B=0
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The canonical momentum is again defined by
o 3L
0A,
Here we have
=0,

meaning that care needs to be taken in quantising the field since the zero component does not
possess a conjugate momentum. For the spae-like components,

G =E;j
Using this canonical momentum we can construct the Hamiltonian density

1, 1
H = En‘?+z(aiAj—ain)2 = ~(IEP+B]?)

N =

For the space-like components, the equal time commutation relations are

[T(x,1),Aj(y:t)] = —i& (x—y)&;

Since the photon has spin, we define a photon state not only by its momentum p but also specifiy
its helicity, A, (the component of its spin in its direction of motion). The field A, can be expanded
in terms of creation and annihilation operators for photons of momentum p helicity A, which obey
the commutation relations

[a(p,N)al(p', V)] = (210*2E8 (p— P

The photon, being massless, can only have two possible helicities 1, in contrast to a massive
spin-one particle (described by a vector field with a mass term) which has three, corresponding to
the three possible components of its spin in its direction of motion.

The expansion of the photon field is

3 . .
M) = [ g, 3, (P Vb P al (b Nej(p.N)e )

For a photon moving along the z-direction the polarisation vectors may be written
(P, F1) = —=(0,1,+1,0))
UM \/E Pl ) )
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having components perpendicular to the momentum of the photon. The =i in the y-direction
correspond to a photon with right/left circular polarisation.

However there is some ambiguity in these polarisation vectors, arising form the fact that we have
a*“‘gauge invariance”, i..e under the transformation

Au(X) = Au(X) +0uA(x),

which can be seen to leave the tensor F,, unchanged and so it has no effect on the physical electric
and magnetic fields. This freedom allows us to make corresponding changes to the polarisation
vectors the polarisation vectors by adding a term proportional to the photon momentum py

The above choice of representation for the polarisation vectors is called the “Coulomb gauge” and
in this gauge

S &(p.NE () = 5”-—%
AT P

This is not terribly convenient and a gauge can be found in which this sum can be written in
covariant notation
Ne*(p.\) — PuPu
z 8“(p7 )Ev(pv ) - _gHV+E 7
A=F1 p

where & is the “gauge parameter” and can take any value without changing the result of the calcu-
lation of any physical process (this is a consequence of the gauge invariance).

From now on we will choose the Feynman gauge for which & = 0 is that

Z ep(p,)\>€\>§(p,)\) = _guV-
A==*1

The Feynman propagator
IAF (X, Y)w = (O|TAL(X)Au(Y)|0) >,

can be deduced from this expansion and is given by

. d4p Z)\::I:I su(p7)\)8\>§<pv)\)

In Feynman gauge this simply becomes

' d*p —guw
Af (X, Y)py = lﬂ/wm

As in the case of the scalar field, we can invert the expansion for the field Ay, and its time derivative

to obtain expressions for the creation and annihilation operators for the “in” and “out” states in
terms of these fields. We find

ain(p,A) = iey(p,A) / d3xe‘p'X07)AFn(X)
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an(PA) = —igg(p.) [ dxe P 3y A (0,

with similar expressions for the “out” states.

From this, we can go through the same steps as we did for the scalar field to obtain the LSZ
reduction for the S-matrix element for an incoming state of n photons with momenta pi--- Pp
and helicities A --- A, and an outgoing state of m photons with momenta - - -, and helicities
A|---Ap. The expression is

) | n+m
<QI:)\/17'"me)\;mou'[‘pl,)\la“‘pn:)\n7|n> - (ﬁ) /d4X1"'d4Xnd4YI"‘d4Ym

o120 pj~Xje+ika:1Qk'yksv,l (qh)\/l)...gvén(qmj\l{n)gﬁ/l(pl,)\l)...gﬁﬁ(pm)\n)

<_glll1ulgxl) <_g“§1““DXn) <—gv/1V1Dy1) <—ngmDym) <0‘TAH1(X1) o 'Aun(xn)Avl(yl) o 'AVm(ym)‘())

As in the case of the scalar field the operators g““/D acting on the external propagators between
an external photon field and an intenral filed (coming form the interaction Lagrangian) gives a
delta-function which is absorbed by the integration over d*x.

11.1 Angular Momentum Operator

The angular momentum operator fopr a spin-1 field contains an extra term, not present in the case
of a scalar field, which ccounts for the spin of the particles. Thus we have

MK — /d3’x(:x“T"0—x"T“O D+,

where
W / d3x: (AF(X)AY(x) — AV (X)AH(x) )

In terms of creation and annihilation operators this is

3
=i [ g, 3 @ AR € BN (P NP

For a particle moving along the z-direction with helicity A
$Ipz,A) = Z¥pz,A) = i€ (M)’ (N) — " (M)e*(N))

setting €X(\) = 1/1/2, and €(A) = —iA /+/2 we see that this measures the helicity A, as required.
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